Rounding to the nearest 100

Round to the nearest 100.

6,066 - 7,017 ->
7,761 —> 9,973 ->
3,566 -> 0,443 -=>
2,585 -> 6,952 =>
9,200 - 7,765 ->
8,968 -> 6,044 -=>
5,378 -> /7,648 ->
9,039 -> 4,789 -=
2,901 -> 2,508 ->
7,017 —> 3,814 -=>
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Rounding to the nearest 100

Round to the nearest 100.

1,480 -> 1500

6,066 -> 6000

/7,761 -= 7800

3,566 -> 3600

2,585 -= 2600

9,200 -> 9200

8,968 -= 9000

5,378 -> 5000

9,039 -> 9000

2,901 -> 3000

7,017 -> 7000

9,973 -= 10000

6,443 -> 6400

8,952 -> 9000

7,765 -> 7800

6,044 -> 6000

7,648 -> 7600

4,789 -=> 4800

2,508 -> 2500

3,814 -> 3800
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